Z
e

ANN\N
ANANY

ANN\N

"

1. Remove the Adjustable Glide/Stopper

&

Remove the Adjustable
Glide/Stopper.

=)

/777
/777
117/
11777

o

Mark and drill #10mm hole
at screw hole

2. Mark all the bin screw hole on the cement and drill a hole.

Make mark each unit separately.

3. Remove the bin and start to drill the hole.
insert the M8 x 90mm wedge anchor to the floor hole.

Bin Leg
Bin Bracket
Nut M8
Al
(tighten the nut) \
Washer M8 ———| * =“j

Nut M10 (weld on bracket)/ I

—T =

Wedge Anchor .
M8 x 90mm /
G(1:2)
Floor

4, Tight the bin together with the washer and nut.
Then the bins is secured mounted to the ground.




	Sheets and Views
	shop drawing exp_Sheet_2-Model


